MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE METRO-DADE FLAGLER BUILDING
COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 3752901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Florida Storm Panels, Inc.
14475 N. W. 26" Avenue
Opa Locka, Florida 33054

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHIJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.060” Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 05-535, titled “ 0.060” Aluminum Storm Panel ”, sheets 1 through 4
of 4, prepared by Thornton-Tomasetti Group, dated January 06, 2006, last revision #0 dated January 06, 2006,
signed and sealed by J. W. Knezevich, P.E., bearing the Miami-Dade County Product Control Revision stamp with
the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 02-0826.06 and consists of this page 1, evidence submitted pages E-1, E-2, & E-3 as

The submtted documentation was reviewed by Helmy A. Makar, P.E., M.S.
ST ,4 NOA No 06-0110.02
Expiration Date: 08/26/2007

Approval Date: 03/08/2007
o?/°3/1007 Page 1




Florida Storm Panels, Inc.

[y

N~

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 96-0304.01

DRAWINGS

1. Drawing No. 95-549, Florida Storm Panels, Inc. Storm Panel , Sheets 1 through 4
of 4 prepared by Knezevich & Associates Inc., dated 01/04/96, Revision No. 2,
dated 06/06/96, signed and sealed by V.J. Knezevich, P.E.

TESTS «

1. Test report on: Uniform Static Air Pressure Test, Impact Test, and Cyclic Wind
Load Test prepared by Construction Testing Corporation, Report No. CTC-95-036,
dated November 14, 1995, signed and sealed by Christopher G. Tyson, PE

CALCULATIONS
L Comparative analysis and anchor calculations, dated 12/18/95, prepared by
Knezevich & Associates Inc., signed and sealed by V.J. Knezevich, P.E.

MATERIAL CERTIFICATIONS

L Mill Certified Inspection Reports issued by MSC Metals, dated 09/29/95.

2. Certified Tensile Test Report issued by QC Metallurgical, Inc., QCM Job No. SKM-
2636, dated November 15,1995, signed and sealed by James Roese, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 99-0726.01

DRAWINGS

1. Drawing No. 99-230, titled “ 0.060” Aluminum Storm Panel”, prepared by
Knezevich & Associates, Inc., signed and sealed by V. J. Knezevich, P.E., dated July
19, 1999, last revision #2 dated August 5, 1999, sheets through 4 of 4.

TESTS
1. None. See Product Approval # 96-0304.01.

CALCULATIONS

1. Anchor Calculations and details for 0.060” Aluminum Storm Panels, dated July 20,
1999, pages 1 through 28, prepared by Knezevich & Associates, Inc., signed and
sealed by V.J. Knezevich, P.E.

MATERIAL CERTIFICATIONS
1. None. See Product Approval # 96-0304.01.

WA n A~

HgHay A. Makar, P. E., M.S.
Product Control Examiner
NOA No 06-0110.02
Expiration Date: 08/26/2007
Approval Date: 03/08/2007



Florida Storm Panels, Inc.

3.

n

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 02-0531.05

DRAWINGS

1. Drawing No. 99-230, titled “ 0.060” Aluminum Storm Panel 7, sheets 1 through 4
of 4, prepared by Knezevich & Associates, Inc., dated July 19, 1999, last revision
#4 dated May 23, 2002, signed and sealed by V. J. Knezevich, P.E.

TESTS
1. None.

CALCULATIONS
1. None.

MATERIAL CERTIFICATIONS
1. None.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 02-0826.06

DRAWINGS
1 None.

TESTS
1. None.

CALCULATIONS
1. None.

MATERIAL CERTIFICATIONS
1. None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 05-535, titled “ 0.060” Aluminum Storm Panel ”, sheets 1 through 4
of 4, prepared by Thornton-Tomasetti Group, dated January 06, 2006, last revision
#0 dated January 06, 2006, signed and sealed by J. W. Knezevich, P.E.

TESTS
1. None.

He Ao At~

y A. Makar, P. E,, M.S.
Product Control Examiner
NOA No 06-0110.02
Expiration Date: 08/26/2007
Approval Date: 03/08/2007



Florida Storm Panels, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Revised Anchor Calculations and details for 0.060” Aluminum Storm Panels, dated

December 20, 2005, pages 1 through 24 of 24, prepared by Thornton-Tomaselti
Group, signed and sealed by J. W. Knezevich, P.E.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

W lory At~

Ay A. Makar, P. E., M.S.
Product Control Examiner
NOA No 06-0110.02
Expiration Date: 08/26/2007
Approval Date: 03/08/2007



11: 30

01,06 /06

P:\FL1\Projects\KK5535.00\Druwings\RO—sub\05—535—01.dwg MCantu 01/06/2008 11:34:29am

Print Information:

15.

. PRODUCT MARKIN

GENERAL NOTES:

THESE APPROVAL DOCUMENTS REPRESENT A SHUTTER SYSTEM ANALYZED WITH
THE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEPTANCE {(NOA) BY
MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION FOR THE HIGH VELOCITY HURRICANE
ZONE {HVHZ) OF THE FLORIDA BUILDING CODE 2004 WITH 2005 SUPPLEMENT.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS
BE&%[&CT. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD SCREW

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING
WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH ASCE 7-02,
A DIRECTIONALITY FACTOR OF Kd =0.85 SHALL BE USED.

THESE APPROVAL DOCUMENTS ARE GENERIC AND DO NOT INCLUDE INFORMATION
FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTEM.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER 61G15-23
OF THE FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR
PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
HEREIN AND THE CONTRACTOR VERIFIES THAT THE EXISTING S TRUCTURE DOES
BE;AHE\E/IIDAIIERIEIEITHER FORM OR MATERIAL FROM THE STRUCTURAL SUBSTRATES

ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID
THE APPROVAL DOCUMENTS.

WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPRO

\

BUILDING OFFICIAL MAY ELECT ONE OF THE FOLLOWING OP TIONS:

A) REQUIRE THAT SITE SPECIFIC DOCUMENTS BE PREPARED, SIGNED, DATED AN
SEALED BY A LICENSED ENGINEER OR REGISTERED ARCHITECT, WHICH DETAIL
AND JUSTIFY THE DEVIATION, SAID DOCUMENTS SHALL BE SUBMITTED TO THE
PRODUCT ENGINEER FOR REVIEW AS A CONDITION TO THE BUILDING OFFICIAL

GRANTING HIS/HER APPROVAL.

B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROVAL BE APPLIED FOR AND
SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION

WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE
ZONE AREAS ONLY OPTION “B" SHALL BE ACCEPTED BY THE BUILDING OFFICIAL.

STORM PANELS SHALL BE 3003-H14 ALUMINUM ALLOY, 0.060” THICK, WITH A MIN.
Fy. (BEFORE ROLLING) OF 21 KSI.
G

G
S SHALL BE WITHIN 12” OF ONE END OF T
MINIMUM OF ONE MARKING PER PANEL AND SHALL BE PERMA

AS FOLLOWS:
FLORIDA STORM PANELS, INC.
OPA LOCKA, FLORID.
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED

ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A
MINIMUM TENSILE STRENGTH OF 60 KSI.

HE PANEL WITH A
NENTLY L D

. ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N
. TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD

CONDITIONS
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE, EXCEPT
FOR "h" AND “U” HEADER MOUNTING CONDITIONS.

. PANELS UTILIZING A STEEL TUBE SHALL BE FASTENED TO OVERLAPS AT MIDSPAN TO A

1" x 1" x 16 GAGE STEEL TUBE USING 1/4-20 x 3-1/2" BOLTS W/ DIE CAST ALUMINUM
WASHERED WINGNUTS OR JACKNUTS (SEE TYPICAL ELEVATION & 46 ). PANELS NOT

UTILIZING STEEL TUBE SHALL BE FASTENED AT OVERLAPS (12-1/27 O.C. , AT MIDSPAN W/
1/4-20 x 1" MACHINE BOLTS WITH DIE ST ALUMINUM WASHERED WINGNUTS OR
JACKNUTS (SEE TYPICAL ELEVATIONS d50R(6). FOR PANEL SPANS LESS THAN 33*
OVERLAP FASTENERS & TUBE ARE NOT REQUIRED.

PROTECTION UNLESS ALL REINFORCING BOLTS AND/OR STRAPS ARE PROPERLY
INSTALLED WHEN REQUIRED. WARNING LABEL SHALL BE FASTENED WITH PERMANENT
ADHESIVE OR MECHANICALLY.

OBUCT REV;?;EEB
zs&'ﬁpiyiﬁg wih the Forida
Buiding Cods
Arcgeptantt e
Expimﬂa Dt

OVERLAP WALL BEYOND
WINDOW DISTANCE 1.5 TIMES
GREATER THAN BUILD-0QUT

By (14

Miami DageX o
Division

(5 16 GAGE GALV. STEEL
BUILD-OUT ANGLE CLOSURE PIECE:
DISTANCE 17 x 2” MIN. TO

2" x 5" MAX.

EXISTING CONCRETE,
HOLLOW BLOCK OR
WQOOD FRAMING. SEE
ANCHOR SCHED. BASED
ON TYPE OF STRUC.

FASTENER @ 12” 0.C. FOR

ANCHOR)

EMB

DESIGN LOADS LESS THAN OR 1/4" MaX.

EQUAL TO 100 P.S.F. & @ 8" 0.C. -

FOR DESIGN LOADS GREATER
a THAN 100 P.S.F. (SEE ANCHOR
w SCHED. FOR ANY ACCEPTABLE

1 5.00° , 5.00" ,
1 (. L
1.50° PRODUCT MARKING PRODUCT MARKING 2.000"
LOCATION (OPTIONAL LOCATION) :
] . 062"
R / & ) [Tvel
ol 328e { ol [P .18 082"
N m o| « N :
giared - i K 5 a
3 “ m
! 1'5°LJ, | J ‘375,}i @ ~1 050 ‘250,.]: F i
L 12.50" COVERAGE ] ngu 1.913"
14.50" 2.000" 1.987"
.
STORM PANEL @ "h" HEADER @ "h" HEADER @ "U" HEADER
SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3" = 17-0" SCALE : 3" = 1'-0"
5.00"
: 125* : 16 GAGE
S 2 093" TYP, GALV. STEEL
~ 6063-T6 ALUMINUM - 3500- GRADE 50
, : gL I:/—OPTIONAL LEG
" 2 DIRECTION L
L 5 MAX. [ 150 == ==
4 751 .75'1
ngen .
D ANGLE ANGLE F" TRACK X
SCALE : 3" = 1'-0" SCALE : 3" = 1-0" SCALE : HALF SIZE x 16 GAGE SOFFIT CHANNEL
S gs;\é'ESSEEEL SCALE : HALF SIZE
m 1.00”
#-093” TYP. 46" L — '
) 16 GAGE N 1/4" S.S. STUD \, .
3 GALV, STEEL el @ 6-1/4" 0.C. vos NI T o 1.00 1.00 .
o - ET ' " 14 GAGE
: : 05" : GA
: OPTIONAL LEG -
. B [ 150" 88" DIRECTION rGA'—V' STEEL _
1[ 2",3", 4" OR S i - L 5.00" MAX. |
u —
@ ANGLE STUDDED ANGLE WINGNUT ® STANDARD CHANNEL CLOSURE
SCALE : 3" = 1'-0" SCALE: 3" = 1'-0" SCALE : HALF SIZE SCALE : HALF SIZE SCALE 3 10"
W32re ) WIDTH UNLIMITED L WIDTH UNLIMITED
(PERP. TO PANEL SPAN) ) (PERP. TO PANEL SPAN)
i SECTION TOP MOUNT SECTION TOP MOUNT
o m N /_®®@ oR N = / @@ or DIRECT
H b 10] 10] [0} 1o =
~| m F DIRECT MOUNT MOUNT
38 l—s/8"0
I 2 . PLAN VIEW
o J
f 0 ;I ;(" gE 2
.938 ok e 26|t
1z(Z rzZ
] I 248N ;
x 1" x 1" TUBE, MAY BE g 1" x 1" TUBE, MAY BE
GALV. STEEL GRADE 60 OR ALUM. 1 & rxd WHEREE praliF 228 USED WHERE REDUCED
t = MIN. .085" ZZ21E HEHHHE G Ht 4+ HHEH H SEPARATION FROM GLASS 22T Aot ETHH FHAHA HA TR T 1] SEPARATION FROM GLASS
S&|g HERET FHIHREHHAH 5 reaoren. see & 8 T T T TR T e caumen see
X T s
KEYHOLE WASHER T X4 gEEARG\ 10N SSOP;SL:,\?S X[ SCHEDULE, SHEET 3, AND
£gg CHEDULE, SHEET 3, AND ggg PLAN VIEW & NOTE 14 SHEET 1
SCALE : HALF SIZE EE 2 PLAN VIEW & NOTE 14 SHEET 155 g £
w8 & Ll OVERLAP FASTENERS wg & H-OVERLAP FASTENERS
w2z (SEE PLAN VIEW & A Lscfgeﬁi‘)w VIEW &
r1-00” NOTE 14)
.
g 16 GA.
3 J— jof 0] 1] I 0] jof jOl 0] I} BOTTOM MOUNT JF_ o] | & O] O] | BOTTOM MOUNT
L (M@ oR DIRECT L (@D®) or DIRECT
MOUNT MOUNT
TYPICAL ELEVATION  (SYSTEM 1) @ TYPICAL ELEVATION  (SYSTEM 2)
STEEL TUBE OVERLAP FASTENERS OR REINFORCING TUBE REQUIRED. OVERLAP FASTENERS OR REINFORCING TUBE REQUIRED.
@ TOP MOUNTS SHALL BE "h” OR “U” HEADERS OR DIRECT TOP & BOTTOM MOUNTS SHALL BE "F” TRACK OR STUDDBED
SCALE 3 - T.o MOUNTS WITH ANCHORS @ 6-1/4" 0.C. OR 12-1/2" O.C. ANGLES WITH STUDS @ 6-1/4" 0.C. OR DIRECT MOUNTS
SCALE : 3" = 1'-0

BOTTOM MOUNTS SHALL BE "F" TRACK OR STUDDED
ANGLES WITH STUDS @ 6-1/4" 0.C. OR DIRECT MOUNTS
WITH ANCHORS @ 6-1/4" 0.C. OR 12-1/2" 0.C.

WITH ANCHORS @ 6-1/4" 0.C.

7

EXISTING
CONCRETE, HOLLOW
BLOCK OR w0oQD
FRAMING

174" MAX,}
\\\1 174" MAX,

1/4-20 x 3-1/2 BOLT WITH
WASHERED WINGNUTS
_ @ 12-1/72" O.C. (TYP) _ / e
— H — g_/_%%ﬁ_uu_ e ]

USE 1” x 1" x 16 GA STEEL
TUBE WHERE APPLICABLE
SEE NOTE 14 & TYPICAL
ELEVATIONS (TYP.)

TUBE WHERE APPLICABLE
SEE NOTE 14 & TYPICAL

EXISTING ELEVATIONS (TYP.}

CONCRETE, HOLLOW
BLOCK OR wOOD
FRAMING

PLAN VIEW

SCALE: 1-1/72" = 12"

USE 1" x 1" x 16 GA STEEL

2"
MIN.

—— FASTENER @ 12" 0.C.

FOR DESIGN LOADS LESS THAN
OR EQUAL TO 100 PSF AND

8" 0.C. FOR DESIGN LOADS
GREATER THAN 100 PSF,

(SEE ANCHOR SCHEDULE FOR
ANY ACCEPTABLE ANCHOR)

EXISTING
CONCRETE, HOLLOW
BLOCK OR W0OOD
FRAMING

1-374" OVERLAP MIN.

14 GAGE GALV. STEEL
ANGLE CLOSURE PIECE

.

e
= 15e |1E
Q ian =
i (AN g_
S iz |8
— 198 1S
£ 8Vl
= {3-351l%
Y IS3d s
< [3%3l§
E £296 ||k

. O | e
O |35z 2
cC
P
o §£§£
S |d=ills
LA
O %83 <
i ;s‘.%’
O 237 o
= g5 |z
F‘ 2-3, =)
= IS

EE'E §

L_ L1
]

Z =
= © .0
a ﬂ:Um;o_
= |0 z29%n
c ms5
O |[F=—=zmnl
- =0
7)) U) ~O_1om
= mNu.,.\to
S 1< 1340,
= sz'émo
= || 0.
Sk Zoau.,
| N Zzx
< O<'<l'<o<

AT

o ||40.-0g
3 |
o

J.W. Knezevich

Professional Engineer
FL License No.: PE 0041961

/4
/ V/¢/o6

description
PREVIOUSLY DRAWING NO. 99-230

revisions

no| date |by
0 (01706706 NwW

C

e 01/06/2006
scale drawn by
AS NOTED MC|

R
design by checked by
NwW VIK

drawing no.

05-535




11: 30

01,/06,/06

P: \FL1\Projects\KK5535.00\Drawings\RO—sub\05-535-02.dwg MCantu 01/06 /2006 11: 34: 39am

Print Information:

WALL MOUNT SECTION

®

SEE MIN. SEPARATION
FROM GLASS SCHEDULE

(TABLE 2)

SCALE : 3" = 1'-0"

—

CEILING/INSIDE MOUNT SECTION

SCALE : 3" = 1

-0

NOTE: USE OF THIS DETAIL IS LIMITED TO +72 PSF.

BUILD-OUT MOUNT SECTION

©

|

SCALE : 3" = 1"-0"

THREE 1/4"® WOOD
SCREWS W/ 2” MIN.
EMBEDMENT OR THREE
WOOD BUSHINGS W/ 17
MIN. EMBEDMENT (TYP.

s/8"
MAX]
- EXISTING CONCRETE TYP EMBED 1 CONNECTION TYPE
ri/Aij 1 HOLLOW BLOCK OR > CONNEQION E TYPy REFERENCE ANCHOR
REFERENCE ANCHOR
; WO00D FRAMING p SCHEDULE FOR MAX.
SCHEDULE FOR MAX. EXISTING CONCRETE| & ke
' C4 CONNECTION TYPE SPACING HOLLOW BLOCK OR , SPACING 1/4-20 MACHINE BOLT
1/ REFERENCE ANCHOR ~ WO00D FRAMING — £ Y8 _il_.Y\;INTGgIPU; c;101T2;(;)Hc.
] SCHEDULE FOR MAX. EQUAL 3 I 1/2" :
4 ) OR
¢ SPACING 1 @re a < -4 2/8" —_ @ @ 174" MAX,
> / . t EDGE DIST. 4 1HAax%. L’Z" s MAX.
A QUi ] 174" MAX. @ g 14" MAX. [
@ 5?553' — W e m o ———1~LOCATE "h" HEADER
= 1 ‘ T Il LEG FLUSH WITH
W I\, CHANNEL BOTTOM
|
?g ! see min. @ ; LEXISTING CONCRETE |
[ SEPARATION 1 HOLLOW BLOCK OR I .
SEE MIN. o WO0OD FRAMING Y ' °
SEPARATIOR ! 3 FROM GLASS [ 3 | :
FROM GLASS | Il a SCHEDULE | L2 | )
SCHEDULE [ £y (TABLE 20— ] Elw [ ©
{TABLE 2) | 9o ™ | I 1 @ »
L1 g —r0 g L 5
GLASS I —— ol z . - 2z e g
oL DSOOR {y_ <Z( ; glﬁADSOSOR _—m——[l <z( ; glﬁADSOSOR SEE MIN. SEPARATION FROM : “jJ
al s o x GLASS SCHEDULE o
I | @ | | & (TABLE 2) ! z
: ' 38 | % [ <
n ——C1 CONNECTION TYPE ! I|w (DCONT. [- 1/4-20 MACHINE BOLT T|w ' o
g | REFERENCE ANCHOR i u S | & wiNeNnuT @ 6-1/47 oc. i | <
u | SCHEDULE FOR MAX | @ | @ , x
a | SPACING | | ‘ |
/| i @ | I o : [
RS | A ! 1 B 1.
NE : : Q LE(.lUAL Az 5@ jE
o § e =1~ EXISTING CONCRETE EXISTING CONCRETE [
@conT 1/4-20 MACHINE BOLT ’—\':/%LOLDO\IQIRT;‘ICI)ISE or @%LOLS"F”’R%C,’EE or n 1/4-20 MACHINE BOLT
. & WINGNUT @ 6-1/4" 0.C. | [ I Q) & WINGNUT @ 6-1/4" O.C.
TP AR
EXISTING CONCRETE > CONNECTION TYPE C1 CONNECTION TYPE = OPTIONAL LEG
HOLLOW BLOCK OR REFERENCE ANCHOR REFERENCE ANCHOR / DIRECTION
WO0QOD FRAMING SCHEDULE FOR MAX, SCHEDULE FOR MAX —+—¢
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL SPACING SPACING

GLASS
OR DOOR

—

EXISTING wWOOD,
CONC. OR HOLLOW
BLOCK STRUCTURE
(TYP.)

REMOV ABLE FASTENER @ 6-1/4" 0.C. OR 12-1/2"
0.C. MAX., BUT DO NOT EXCEED SCHEOULE SPACING, SEE
ANCHOR SCHEDULE REFERENCE €1 CONNECTION TYPE
USE 1/4-20 STAINLESS STEEL TRUSS HEAD
BOLTS WITH KEYHOLE WASHER. ENGAGE BOLT
HEAD IN NARROW PORTION OF KEYHOLE WASHER

. JEMBEDMEN

S/8"

| | , 174" MAX.

AT EACH JOIST, TRUSS
OR RAFTER @ 24" 0.C. MAX.)
2 x WOOD JOIST,

TRUSS OR RAFTER

#12 SMS BETWEEN
TRUSSES @ 10” 0.C. MAX.

MAX.

o

MAX. PANEL LENGTH = 7'-2"

T
|
|
|
I
|
|
|
|
|
|
[
|
|
|
f
|
|
|
|
|

i /—;('I)CONT. @

GLASS
OR DOOR

SEE MIN.

SEPARATION — . n 4
FROM GLASS

SCHEDULE _ | N
(TABLE 2)

OR 1" x 4" x 125" |
AL. TUBE (OPTIONAL) ‘f-o“

~— GLASS
OR DOOR

SEE MIN. SEPARATION

FROM GLASS SCHEDULE
(TABLE 2)

1" x &” x 125" OR
2" x 4" x 125" AL.
TUBE OR 2" x 6"

P.T. WOOD W/ 1/4“a
LAG SCREWS @ 12” 0.C.
W/ 1-1/2" EMBEDMENT
FOR CONNECTION

WITH STUD ANGLE

W/ 1-3/4” PENETRATION
IN CENTER OF STUDS

= THIS DETAIL MAY BE USED

\, #14 SM.S. @ 10” O.C.

MBEDMENT I+ /
2 216 x be1s27 s S,

LAG SCREW @ 24" 0.C. MAX.

1/4-20 MACHINE BOLT
& WINGNUT @ 6-1/4" 0.C.

GE DIST.

-

N
|
TLIT

|
|
I
|
|
|
I
!
|
|
I
|
J

MAX. PANEL LENGTH
SEE STORM PANEL SCHEDULE

1e

1/4"@ ELCO MALE WITH WASHERED WINGNUT

@ 6-1/4" 0.C. OR 12-1/2" 0.C. MAX., BUT DO NOT
EXCEED SCHEDULE SPACING, SEE ANCHOR SCHEDULE
REFERENCE €1 CONNECTION TYPE

NOTE: USE OF THIS DETAIL IS LIMITED TO +80 PSF.

AT TOP OR BOTTOM OF PANELS.

NOTE: USE OF THIS DETAIL IS LIMITED TO +72 PSF.

WALL MOUNT SECTION (BOTTOM)

C)

SCALE : 3" = 1'-0"

@ WALL MOUNT SECTION
(DIRECT MOUNT)

SCALE: 3" = 1'-0"

®

SOFFIT MOUNT DETAIL

SCALE : 3" = 1'-0"

N,

> v

= §0\ o
Q a5 —
el MmN g_
r o
\D “'1<o: o
(7]
o 8%z
= 15-3|lg
L Iz35=
v Jeo S| E
QS =486
E EN0 ||F
adil=
@) oS|I 8
Y o c
= |yokE |E
s 2.zl
(C): a8z |-
= 18888
o <3312
VoG [{N
wN
O (2X~lle
S 125 |z
= 38 5
s <. |5
i o5 |3
e

0.060" ALUMINUM STORM PANEL
FLORIDA STORM

—

14475 N.W. 26TH AVE.
OPA LOCKA, FL 33054
PHONE: (305) 685-9000

PANELS, INC.

J

[ Co
WC

FAX: (305) 685-7511

\

{ ).W. Knezevich

Professional Engineer

FL License No.: PE 0641961

/ -

©
]
&
13
w ~ T
i b
T R
= p
() o
z &
uw .
3 . g
< 23
e R 2L
X S
o © =)
< === w
z L2013
> |5
w
i S
32
]
. - 25
PRODUCT REVISED 38
as complyiag with the Flerida =2
Buiding Cede LJLEl°
Agce ce?’@Qé_;o 0.0 (@ 01/06/200
Exgirgtion Date O LY, 106/2006
scale drawn by
A AS NOTED MCR
raduct Contrel Gt B w1 UK

S

(sheef 2 of 4]

heet 2 of &




11: 30

01,/06 /06

P:\FL1\Projects\KK5535.00\Drc1wings\RO—sub\05—535—03.dwg MCantu 01/06/2006 11:34:49am

Print Information:

(f

C1 CONNECTION TYPE
REFERENCE ANCHOR

SCHEDULE FOR MAX.

SPACING

C1 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MA
SPACING

EXISTING CONCRETEX
HOLLOW BLOCK OR

EXISTING W0O0O, CONC. OR

WQ0O0O0 FRAMING

©

ALUM. OR GALV. STEEL

SPACERS AS REQ'D

C2 CONNECTION TYPE
REFERENCE ANCHOR
SCHEDULE FOR MAX.
SPACING

EXISTING CONCRETE
HOLLOW BLOCK OR
WOOD FRAMING

L 5/8”
HOLLOW BLOCK STRUCTURE cz coNNECﬂoN TYPE T1TMAX.
—C3 CONNECTION TYPE REFERENCE ANCHOR - 1/4-20 MACHINE BOLT N MIN. STORM PANEL SEPARATION
REFERENCE ANCHOR & WINGNUT @ 6-1/4" 0.C.
SCHEDULE FOR MAX. SPACING—— | [ E FROM GLASS SCHEDULE
SPACING 1/4-20 MACHINE BOLT
& NUT @ 12" 0.C. 1 . E MINIMUM SEPARATION | MINIMUM SEPARATION
CONT' (TYP. TOP 2 BOTTOM) wl.- _Tvz" [ I FOR INSTALLATIONS FOR INSTALLATIONS
L - \ T—‘ rEQUA'— 174" MAX. gl emped]- [ I 5 a 2 30’ OR LESS ABOVE GREATER THAN 30’
— ale SN 2z GRADE ABOVE GRADE
| . - | e —[POSITIVE ACTUAL SHUTTER (INCHES) (INCHES)
N - | e}
) [ EXISTING CONCRETE M — @l DESIGN
: i— ® HOLLOW BLOCK OF , 23 SPAN (L) SYSTEMS 1 & 2 SYSTEMS 1 & 2
Ji~—ALT. LEG <a LOAD(W)
| orecTion : w WOOO FRAMING :«®°7 z (PSF) (FT - IN)
T rve 3 X MIDSPAN | MIDSPAN
? Z| 8 SEEMN oy emom o I - TUBE | BOLTS | ALL CONDITIONS
| gl g | u
GLass | Z % FASR oo B P BT 320" 2-1/14 3 1-1/4
SEE MIN. SEPARATION | v lr I g L'-0" 2-1/4 3 1-1/4
z
FAale SHEPULE —@ g "F' TRACK CONNECTION TO Lo 5°-0" 2-1/4 3 1-3/8
@conr. | x| & ' 60" 2-1/4 3 1-1/2
r g8 EXISTING STRUCTURE DETAIL o7 ST 3 Y
ot b | ] SCALE : 3" = 1'-0" - - -
gia I 1 r 8'-5" 2-1/4 3 2-1/8
_L_ﬂ | C2 CONNECTION TYPE
T | REFERENCE ANCHOR 1/4-20 MACHINE BOLT 3'-0" 2-1/4 3 1-1/4
! ' SCHEDULE FOR MAXZ5E: & WINGNUT @ 6-1/4" 0.C
S 2 %1 1 L 0" _ _
s b 1/4-20 MACHINE BOLT SPACING — — 40 2-1/4 3 1-1e
N 8 WINGNUT @ 6-1/4" 0.C. 50.0 5'-0" 2-1/4 3 1-3/8
~ .
j\ < ! 60" 2-1/4 3 12172
N S | g - -
_géggggﬁggoANNTCYl_PlgR EXISTING CONCRETE % j T g 7 0 2-1/4 3 1 3/4
SCHEDULE FOR MAX. o hr BLOCK OR 7 — | 6/8 8'-5" 2-3/8 3 2-3/8
SPACING - — 5| 518 —
e, D s arueee o 20 e |3 i/
BUILD-OUT al3 EMEED :\ : BE REVERSED) :z" Z L 0" > 1/4 3 T1/L
5 E S—— wire LATHMAY  a|Z 5 _Q" 2_1/4 3 1-3/8
MOUNT SECTION SEE MIN. Sk | Beuseo as TvpicaL x|E 60.0 —
SEPARATION FROM | ﬁEHgFgFRCEFPlEﬁgg\C/'E(R ; ; 6'-0 2-1/ 4 3 1_5/8
SCALE (37 = 1-0" (TABLE BiDUE ; i 70" 2-1/4 3 1-7/8
\ @ A
— L 8' -4 2-5/8 3 2-5/8
1/4-20 MACHINE _ v I 3.0 T, <8
oot @ "F' TRACK CONNECTION TO — 2-174 3 -5
- 2-1/4 3 1-1/4
ﬁ NEW STRUCTURE DETAIL 0.0 5.0 >_1/4 3 1-3/8
SCALE : 3" = 1'-0” o ' 6'-0 2-1/4 3 1-5/8
- ; 7-0 2-1/4 3 2
> ” " " L. - e ' e
o ALOMNUM anare ~ V2 7'-9 2-1/2 3 2.1/2
1/4-20 STUD
—l W/ NUT

I
|
[
I
I
|
|
|
|
[
I
|
|
|
|
I

[}
p
WIRE LATH MAY a
BE USED AS TYPICAL Elw
REINFORCEMENT OVER ®o|I
LEG OF "F" TRACK zZlo
e O o
SEE MIN. b
EPARATION FROMJ v oz
GLA(S_.l_S SBCHEEDljJLE i z 3
ABLE 2
alm I
[ X|a
| =
Zlwn
[ w
. | w
=

[ T !

a [

w I

g |

[a]

w 'Ji e |

. 775

= TN —YE

2] |

] — ALum. or GALV. STEEL
ACERS AS ‘

C2 CONNECTION TYPE ¢ REQ'D

REFERENCE ANCHOR
SCHEDULE FOR MAX.

ALT. "F" TRACK CONNECTION

SPACING

TO NEW STRUCTURE DETAIL

SCALE : 3" = 1"-0"

N

1/4"¢ ALL POINTS
SOLID-SET W/ 7/8" MIN.
EMBED. IN CONC. @ &” O.C.

INTERIOR FASTENING
ANGLE ASSEMBLY (SECTION A)

13-172"
SCALE : N.T.S. 12-1/2"

EQ. 6-1/4" 6-1/4" EQ.
1.0" —

OPTIONAL HANDLE
LOCATION

}\ 3/8"® HOLE FOR

FASTENING PANEL

—PUNCH HOLES IN
ADJACENT PANELS

TO RECEIVE THIS
1/4-20 BOLT. PLACE
PANEL OVER EACH
ADJACENT PANEL

AND FASTEN WINGNUTS

FROM THE INSIDE. (MAY
BE 1 OR 2 PANELS WIDE}

8" x 3" x /4" x 1' = 1-1/2" »
ALUMNUM ANGLE f

04/4-20 sTUD

INTERIOR FASTENING
ANGLE ASSEMBLY

Al

NOTE : USE OF THIS DETAIL IS LIMITED TO =72 PSF AND A MAX.. PANEL LENGTH OF 8'-0*
STORM PANEL INTERIOR FASTENING _(ISOMETRIC)

SCALE : 1-1/2" = 1'-0"

2" x 2" x 125" MIN. CONT.
3105-H14 OR 6063-T6
ALUMINUM ALLOY OR
18 GAGE GALV, STEEL

BOLTS & WINGNUTS
@ MIDPOINT OF PANEL

SPAN OR 51" 0.C. MAX.

(TYP)

\®1—1/2" x 1-1/2"

AL. STUD ANGLE

ALT. CORNER DETAIL

©

SCALE : 3" = 1'-0"

EVISED

PRODUCT .
vich the Flsrida

By A
Bami Dade
Divisiss

el ]
- J
(=,
3 |ge |I£
mwv ~|
D A O
r % 3
\D "'16( g
L)
B89 g
= 15-0|l@
3 13848
N iamS|E
& -2 s
E ZNO ';
oYw || 8
o nne I g
= YeE
s (8.2
g R =
S gREls
o IERE|S
voaTw ([N
S &8z
O |EX~7 |0
-ct‘\
L 5T £
= 58 |5
- z~ g
- S
mE ||lo
ul

0.060" ALUMINUM STORM PANEL

-

—

revisions

J.W. Knezevich
Prafessional Engineer
FL License No.: PE 0041961

description
PREVIOUSLY DRAWING NO. 99--230

FLORIDA STORM
PANELS, INC.
14475 N.W. 26TH AVE.
OPA LOCKA, FL 33054
PHONE: (305) 685-9000

FAX: (305) 685-7511

P —

N

.

= 01/06/2006

no| date |by
0 101706/06!NW

M\' scale drawn by
2ol e AS NOTED MCR

design by checked by
NW VK

drawing no.

05-535




11:30

01,06 /06

Print Information: P:\FL1\Projects\KK5535.00\Drowings\RO—sub\05—-535—04.dwg MCantu 01/06 /2006 11:34:59am

EXISTING STRUCTURE.

ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS' 10.
RECOMMENDATIONS.

N U . 1. * DESIGNATES ANCHORS
MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES WALL FINISH OR STUCCO SCREW. NUT OR WASHER

RE
UT.

DESIGNATES ANCHOR CONDITIONS WHICH ARE NOT ACCEPTABLE USES.

REMOVABLE BY REMOVING MACHINE

¥ .

ANCHOR SCHEDULE ANCHOR SCHEDULE 8 Ra ||E

FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS G o g

w o

. LOAD MIN. 2" EDGE DISTANCE MIN. 3" EDGE DISTANCE . LOAD MIN. 3/4" EDGE DISTANCE . g‘:oj '
* ] —

s (W) ] SPANS UP TO | 'SPANS UP TO | SPANS UP TO | SPANS UPTO | SPANS UP 70 | SR UP TO Y (W) | SPANSUP TO | SPANS UP T0 | SPANS UP TG £ |STe|B

£ P.S.F. 36" 53" 8'-5" 3-6" 503" 8'-5" £ P.S.F. 36" 503" 8'-5"" Y s3dl s

©v ANCHOR TYPE MAX.|  (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) “n ANCHOR TYPE MAX.|  (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) < |5%21|5

a (SEE | CONNECTION TYPE | CONNECTION TYPE CONNECTION TYPE [ CONNECTION TYPE | CONNECTION TYPE CONNECTION TYPE ‘lz (SEE | CONNECTION TYPE | CONNECTION TYPE CONNECTION TYPE E '-T'—EE ,E

4 NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) 2 NOTE |  (SEE NOTE 3) (SEE NOTE 3) (SEE NOTE 3) O 33z| 2

u D _jc1czic3icecsjcijczicsicaicsicr|cz]es|ce]csfcrlcz|c3fca]cs|crlcz|c3|calcsfcilcr|cs culcs uwl 1) Jcilczfc3lcaicsfct|cz|c3fcalcs|c1|cz|c3|calcs Sl A 5

@;MNW +8.0 12.512.512.512 5112.5012 5012 5J12.5/12.5/12.5}2. 512.5/12.5] 10 | 10 |12.5012.512.512. 512502 512,512 512 5712 Sh2 512 512 5 7 12.5 SErenven s RN EENREN KON RN KRN D XN KN KD KR K SRR c Eﬁg =
62.0 112.512.512.512.512.5012.5(12.512.512.5/12.512.5[12.5/12.5.25] & f2.5[12.512.5012.512.5h2 512 Sh2.512.5h2.5h2 Sz Shp o 9 PRt EEX EHEN X KA B I DR R A EE S léss 9
. O'»n
1378 TN, TOBESNENS [L72.0 12502 502 5h2.512.5012.512.5012.5) 11| 11 h2si2.51125 5 | 7 hzsfizshz.sizshz ohe sz shz sl 12 12.5)12.512.5)12.5] 5 | 8 LAG SCREW W/ MIN. 2¢ [72.0 [ |11 11 (1| m |21 7| 3 i Tag T 111117 .29 SR8 (IR
1-3/4" MIN. EMBEDMENT EMBED. SHEAR PARALLEL - 3(‘:‘13
52.0 12.512.512.512.512.5012.512.512.5| 7 | 9 12.512.510 | 3 | 5 f12.5[12.5h2.512.512.5h2.512.512.5] 7 | 10 f2 5hz 5 10 T4 6.29 Q |ORPERP. T0'WOOD GRAIN{ 92.0 [ 1111 [ 11 11 11|11 [11| 1 (10| 8 {11 11 11 5 |5 O |£5% o
(MIN. 3,192 P.s.I. coNcreTE) | 200 0 h2.sh2 5125 & [ 6 hzs 8 | 5 th2si s s & f12.5012.5012.5] 4 | 7 h2s 9 3/525/9]s5[3]5s o 2000l M) ys s {7 3 [&afnlnl7]3 & -ﬁ 25 |z
- O\
* 48.0 12.512.512.512.512.5012.5112.5[12 5/12.512.5}12.512.5112.5 10 125 o 48.0 [.256.256.296.25F 2%.2%.25 .25, F 256 256 .25 3 e 2 ||
* 62.0 12.5)12.5(12.5012.5112.5112.5112.5)12 5012 5/12.5h2.512.5/12.566 29 o = * 62.0 [6.256.256.25.25/./5.256.256.25 5 //k.256.25.25 i ne §

E FEMALE /P ANELMATEY W/ 72.0 12.5112.5[12.512.5/12.512.5112.5(12.5| 11 h2.sh2.501250125] 5 | 8 176 @ wooD BUSHING | 72.0 [6.256.256 25.25) 625256 25 & |/.25.2%.25 .

W | 1/5258 AN EMBED. & 520 12.512.512.512.5012.5012.5/12.5/12.5] 7 |10 hz5{12.5] 9 | 3 .29 1/4-20 STAINLESS STEEL| 92.0 £.256.296.25 5 /.25 256 29 k 256.29 3 f }

6 (MIN. 3,000 P 5 Y 'Concrere) | 200 0 h2.5h2.5h2.5] & | 7 |25 8 5 25 8 | 5 5 MACHINE SCREW 1 S 0k 256 29 < NE L3

> +8.0 12.512.5[12.502 5012.512.5,12 5[12.5/12.5012.5]12.512.5112.5] 7 | 11 [12.5012.512.512.5012. 5012 512 512 512 512 Shz Sz 2 T o 12.5 o

o * 62.0 112.5112.5112.5112.5/12.5012.5112.512.5 12 12 5}z.512.512.5/ 5 | 9 12.5)12.5/12.512.5(12.512.5(12.5112.5/12.5/12.5/12.5112.5/12.5/6. 29 11 zZ|=

U [vaie A-ranrs soLip- | 72.0 ha2 shz.shz2 shz sz shzshz 25| & f2shashzshzs o | 7 12.5[12.512.512.5112.5{12.5[12.5112.5| 11 [12.5}12.5}12.5/12.5] 5 | 10 Z STORM PANEL SPAN SCHEDULE o | Guyd-

| >0x"
EMBED. & 17— 0 h2:sh2.shz.s| 11 12.5h2 52502, 512,
METREL WACHINE SomGSY 92.0 112.512.512 5] 11 [12.5012.512.512.5] 5 | 9 h25125] 7 | 3 | 6 f125h2.5h2.52.502 Sh2.Shz sha gl 3 12.5012.5912.5/ 9 | 3| 7 5 OVERLAP = OZ“S@W
(MIN. 3,000 P.5.I. CONCRETE)| 200.0 12.5125[ 10 | 3 k.29 10 .25 & t 1029 4 f12.511250125 4 | 8 |25 8 6.29125 8 | 5 [/ .25 L FASTENERS OR OVERLAP O ]"—E"’ggg
“8.0 112.512.512 512 512.5012.5/12.512.512.5012.512.512.512.5] 7 | 10 [12.512.5/12.5012.5112. 512 5712 512,512 512 Shz Sz Sz o & 12.5 E REINFORCING TUBE | FASTENERS OR )] ~0 10D
62.0 112.512.512.5[12.512.5012.5/12.5/12.5 10 12.5h2.5h2.5h25 & | 8 12.512.5/12.5(12.5/12.512.5112.512.5/12.5112.5h2 512 5h2 5 5 |10 1 MgLEJﬁ'Llf?ES%A-LrI?PBE F;EIEE?RRECSNGngBX(E = <3 4{5,\
V720, eMes Y | 72:0 B2 5n2 st2.si2.sh2.5h2.512.512.5) 8 | 1 2525125 3 | 7 fz.shzshz.shzohz.sha sz sha < 10 12.5012.5012.5012.5) 4 | 8 [ i A ‘ 20 5::8‘8
92.0 112.512.512.5/ 10 [12.5}12.5[12.512.5 5 | 8 [11[ 11| 7 5 12.5112.512.5112.5112.5}12.5112.5012.5/6.25 11 i2.572.9] 8 | 3 & 24 BOTTOM MOUNTS |SHALL BE “F" TRACK > Tz 00"
(MIN. 3,320 P.5.I. CONCRETE)| 200.0 }12.5/125/ 9 (3 [ 5 |5 |6 | 3 t|9]s]3 t hzshesi 3|71 s|nl 74 5 DESIGN LOAD  |SHALL BE “F” TRACKIOR STUDDED ANGLES) 2 O<r;<g:'(<‘
= “8.0 02.512.512.512.5 1 f125012.5125 9 [ 8] 9|9 [9]3 | 5 hashizshzsizofizshzsmzsizs oo [T 5 W OR STUDDED ANGLES|  WITH STUDS @ . SLF
I ORI W (PSE) WITH STUDS @ 6-1/4" 0.C. OR o || <004
62.0 12.512.5112.5/12.5( 9 [12 (12 |12 | & b2d 7| 7] 7 3 jr2.sj2.512.502.5) 11 h2.shzshes s [ 7|8 | 8 | 8 4 6-1/4" O.C. OR DIRECT MOUNTS @ I

|5, L N TABESN N | 72:0 25251125 8 | 7 [10[10]10| 375 b2s 25k 2500 3 hzshizshzsl o |9 |12 |12 12 62d 7|77 4 DIRECT MOUNTS W/ | WITH ANCHORS @ P

W) 92.0 [12]12|12| 4 (6|8 |88 t]s s 3 125125125 5 |7} 9]9 55|63 3 é"éCgORSZ @/6:1/4” 6-1/4" 0.C.

3 2000[ 5[5 |4 4 4 £.256.29 4 HINE AE .C. OR 12-1/2" 0.C.

P [

oo | *EETIES [ wso 12.512.512.512.5112.5412.512.512.5/12.5] 11 |12.5012.5112.5 7 MAXSP\;\?\IEETELGTH MAXSI;{ASN-II;ETEZNGTH |rJW Knezevich

w *Qm 62.0 12512512512 512 5012.5h2.5012.5) 7 | 8 |12 |12 |12] 3 | 5 (FT ZIN) (FT ~ IN) (| protesonat Engineer

E FEMALE PANCLMATE W/ 72.0 12.512.5/12.512.9] 11 12.5h2.592.5 5 10] 1010 A 200 — 8 -5 _ Pl ticense Ne.: PE 00419c1

o | 175256 MATHRIEPER: &, [ 52,0 12.512.512.5 7 | 8 h2.sh2.sfi25 3 (5 |3 | 8 | 3 500 P P B

U WITH NUT 200.0 8 | 8 .25 3 629 4 ¥ER FROBUCT REVISED 60.0 8 - &4 8 -4 o

pd 48.0 12.5[12.5112.5(12.5112.5/12.5[12.5/12.5112.5112.5012.5112.512.56 25 & 12.5[12.5112.5/12.5[12.5/12.5/12.512.512.5112.5}12.512.5112.5] 7 | 10 %"F?gjmﬁ}’ﬂﬂﬁgﬂéﬁmyﬂ@fm ' - - - ' _

8 * 52.0 12.512.512 512.512.512.512.5/12.5| 10 | 10 [12.512.512 5] & .25412.512.5[12.512.512.542.512.512.5| 11 2 5h7 Sz 2 o] % 8 y 70.0 -9 -9 /15766

Ve ANGoR g $ok0- | 120 [12.512.512 512 S2.sh2. 512 5[12.5] 7 | & h2 52,5125 3 |5 fzsnzsfizshizshz sz sz 25| 8 | 11 fzshz o gl 3 7 80.0 7-3 7=-3 /7 VAR B

S e S, smmesngz‘o 12512.512.5) 9 | 10 112.512.512.5 & |6.29 11| 1 6.5,/ & |12.512.512.5 10 f25h2512.512.5 5 | 9 {1212 | 7 5 90.0 6 - 10 6 - 10 H

STEEL MACHINE SCREW :

o] 200.0[12]12] 8 t]8ls]3 3|s8]s|3 3 J125025 9 [3 [ 6|9 b2s t]9keg 3 4 - _ $

“ 100.0 6 - 2 6 -6 :

= +8.0 12512.512.512 512.5012.512 5125 9 | 9 [10[10]10] 3 | 6 f2.5i2 502502 502.5h2.512.5025 11 |12 o shz iz s =5 00 — PR g

(@) 62.0 [12.5112.5112.5112.5| 11 fi2shzsfizs{ & | 7|8 | 8 | 8 & f12.5012.5012.512.5012.5012.5112.5112.5] 6 | 9 [10 | 10110 5 120'0 — — I

L |1/ rco tarconw/ [ 72.0 f2shzsize 8 [ [ 11|31 3 6.2%.2%.256.25 /1 & h2.sh2sh2.sl 10 11 h2sizshes 4 18 |3 [ 8 |8 5 i - - 0/|8E

1-1/2" MIN. EMBEDMENT 130.0 L -9 5 -8 & 2
92.0 Ii2.sh2.sh2s| 4 [ 78 [ 8 | 8 s{s|s|3 3 J2.s[12.502.5] 5 [ 9 |10 10 3 b.2%.2%.29 3 3 : Sl

2

2000|555 |4 3] L 7175 t|s|3 3|53 3 140.0 4 -5 5-6 S| |2

o &

ANCHOR NOTES: 150.0 adlll > -3 ik
ALLOWADLE SOARS SHOWN HERE ARE FOR DETERMINING ANCHOR SPACING ONLY. 7. WHERE EXISTING STRUCTURE IS WOOD FRAMING, WOOD FRAMING CONDITIONS 160.0 3-10 > -1 EB
ALLOWABLE STORM PANEL SPANS FOR SPECIFIC LOADS MUST BE LIMITED TO THOSE VARY. FIELD VERIFY THAT FASTENERS ARE INTO ADEQUATE WOOD FRAMING 170.0 3 _ 7 L -1 2 —
SHOWN IN TABLE 1. MEMBERS, NOT PLYWOOD. FASTENING TO PLYWOOD IS ACCEPTABLE ONLY FO3 : 23
ENTER ANCHOR SCHEDULE BASED ON THE EXISTING STRUCTURE MATERIAL SIDE CLOSURE PIECES. 180.0 3-5 4L - 10 S
EQGAOR- D YXES AND EDGE DISTANCE. SELECT DESIGN LOAD GREATER THAN OB 8. WHERE LAG SCREWS FASTEN TO NARROW FACE OF STUD FRAMING, FASTENER 5
EQUAL TO NEGATIVE DESIGN LOAD ON SHUTTER AND SELECT SPAN GREATER SHALL BE LOCATED IN CENTER OF NOMINAL 27 x 47 (MIN.) WOOD $TUD. 57 &~ 190.0 3-3 4 -8 L&k
THAN OR EQUAL TO SHUTTER SPAN. EDGE DISTANCE IS A CERTABLE FOR W0OD ERAMING. WOOD STUD SHALL BE 2000 3 P ™ 01/06/2006
SEE MOUNTING SECTION DETAILS FOR IDENTIFICATION OF CONNECTION TYPE. pﬁﬁlﬂTpHsEgﬁNPWEEADGSS'a X HEAD. | DENSITY. LAG SCR SHALL HAVE - oo |
EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK OR WOOD FRAMING. " AS NOTED MCR
REFERENCE ANCHOR SCHEDULE FOR PROPER ANCHOR TYPE BASED ON TYPE GF O BASE N S REN R SHALL BVE ANIUM %':EZ\’DZ(SEB'E@EEEE%TL%F, UREADS IN

design by checked by
NW VIK

(sheet 4 of 4]




